Teaching Materials – 14

Stimulus Materials

A ‘good’ business looks towards the future. It plans how it will try to remain competitive and provide its customers with what they want.

How does it do this? Well, one way is to produce new ideas or products. They also need to be able to decide what to do and what not to do. Being successful means adding value and staying ahead of your rivals. Sounds easy but is it?’

The theory
Most products sell because they have something that appeals to customers. We normally call this its unique selling point. But in the competitive world of business you need other qualities and these must be updated if you are to maintain your market share. So, why do firms pay millions of pounds to research and normally develop new products or extensions to what they already produce? Here are some things you should think about when answering this:

think about competitive advantage 

*think about building an image or reputation for products that meet what customers want 

*think about extending both brand and product life cycles 

*think about maintaining customer loyalty and allowing the business to produce in bulk (economies of scale) 

All of these may be enhanced if R & D is both financed and is successful. To increase the chances for success R & D normally works best when:

*it is engaged in prior to the demise of the current product range 

*the company uses patents, copyrights and trade marks to protect new ideas 

*the opinions and needs of customers are asked for as part of the research process 

*the corporate culture is based on encouraging innovation and initiative 

*research is seen as an essential part of corporate strategy and not an 'extra' 

Another way of maintaining efficiency is to use Critical Path or Network Analysis
Critical Path Analysis is a management tool and allows a business to see how complicated projects can be completed in the most efficient way. Normally this is based on time. By devising a CPA the firm can note the sequence in which various operations have to be done, note the length of time each operation will take and see when the earliest time is for each stage of the process.

To identify certain parts of the process two terms are used. These are 'Activities', which are the various stages through which the process has to pass and 'Nodes', which show the start or finish point of each activity. When following 'a path' you have to note the earliest start time (EST) for they show the earliest times at which subsequent activities can start. At the last Node the EST is the earliest time at which the project can be finished. The latest finish time (LFT) shows the time by which the previous activity must be finished if the project is not to be delayed.

The use of CPA is normally thought to help:

*in the process of planning 

*allow managers to see crucial times and activities 

*allow managers to direct their own time to tracking the crucial parts of the process 

*allow managers to see where tasks can be performed together and so save time 

*allow managers to release working capital from within the path by knowing when certain things will happen or don't need to happen 

But CPA does NOT answer all management’s problems. It might be difficult to measure every part of a production process and represent it within a path diagram, and the analysis also needs to be very aware of external changes that may affect the firm. Like all numerical exercises much depends on the quality of data used. 

The introduction of IT to the business world

CPAs are often calculated by the use of a computer and we need to consider just how important IT is in modern business. Let's just list some of the advantages the PC and its tools have brought to business:

*speed and accuracy of data and its recording 

*help with design, research and simulation 

*help with management systems 

*help with reducing cost bases and allowing de-layering and downsizing to proceed 

*allowing work practices to change e.g. emailing information to people all over the world. 

ICT usually works best when it:

*is fully understood by all employees 

*trusted by employees 

*introduced carefully and with training 

If mistakes are made with the introduction of new IT systems they can be very costly. So, beware of:

*a reluctance amongst staff to accept such new technology 

*overseas business invading your markets within being physically located in your country 

*those with IT skills are in short supply and 'headhunting' is common 

The last area we need to think about is where to locate business in the fast changing world of global trade. For those of you following a geography course some of this will be familiar to you. Normally location decisions are based on:

*whether the business needs to be near to its resources or its markets 

*the support facilities offered by various locations e.g. transport 

*the support offered by government in the form of grants etc 

*the access to external economies of scale, such as highly skilled workers 

The growth in international or global business means that companies now have to consider:

*access to communications systems 

*access to transport facilities 

*tax and royalty polices of different governments 

*health, safety and employee regulations in different countries 

*availability of government funding 

*political stability 

*the stability of the domestic currency 

*the freedom of trade environment 

All of these are taken into consideration when deciding where to locate in the global economy.

Some questions

1.What do we mean by the term competitive advantage?

2. Why might the introduction of critical path analysis assist a business?

3. What problems might arise as a business uses more IT within its management systems?

4.Explain what is meant by (a) corporate culture (b) patents (c) product life cycles and (d) the global economy.

Some suggested answers

1.Competitive advantage is when a firm has lower costs than their competitors and so can sell at a lower price or make a bigger profit at the same price. It can also mean that a business is seen to offer greater value or other perceived consumer advantage, which might be just cost/price advantage.

2. The use of CPA is normally thought to help in the process of planning, As it will:

· allow managers to see crucial times and activities

·  allow managers to direct their own time to tracking the crucial parts of the process 

· allow managers to see where tasks can be performed together and so save time 

· allow managers to release working capital from within the path by knowing when certain things will happen or don't need to happen

3.If mistakes are made with the introduction of new IT systems they can be very costly. So, beware of:

*a reluctance amongst staff to accept such new technology  - so training and communication are important

* some overseas business invading your markets without being physically located in your country 

*those with IT skills are in short supply and demand high salaries and good working conditions..

4. (a) the overriding values that are central to the basic philosophy of a company (b) a legal document that grants an individual or business the sole right to benefit from an invention for a specific period. (c) the stages through which a product passes during its existence, (d) the growing trend of markets that are literally global, in that firms within operate in most countries. They source from certain locations and sell in may others. Profits are normally repatriated to the ‘home’ economy of the parent organisation.

